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cosωC = cos θ cos θL + γCM sin θ sin θL =
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(
pB
pC

)(
EC

EB

)
cos θL +

m2
BE

2
C −m2

CE
2
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mBpCpLCEB

sinωC =
mC

EC
{sin θ cos θL − γCM cos θ sin θL} =
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mCβCMγCM

pLC
sinθ =
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)(
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sin θL
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=

(
pB
pD

)(
ED

EB

)
cos θR +
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sinωD =
mDβCMγCM

pLD
sinθ =
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)(
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